R BT REFE M (FRHIS) TR HH74E 18 188 @)
e
B &t E i = & & =7 {B £ B
B = RO
) ARE®) (M) (M) (M) (kg)
WA 64.9 BRE 64.9 1,620 864 756 10 A
IZALCA 14.2 BERE 0.4 - - - PR
IZALA £ & 8.6 3,024 - 2,646 10 vay M
ZIx5 0.8 BRE - 648 - 51 A 3L
ZIx5 BE X 0.4 3,240 2,916 2,754 4 LL
=D 0.2 BRE 0.1 - 238 - 1 7
[E<ELY 61.1 ERE 33.6 1,080 972 864 15/ A 6
[F<E0Y =0 ) 13.2 702 432 432 15[ vy 6
HTE 1.6 £ & 0.3 - 864 - 4
CEDOL 6.4 BIRE 3.1 1,296 1,080 1,080 4 A M
FoRy 117.7 BRE 116.8 — 756 — 100 A 8
F3NAZES 2.2 BERE 1.0 2,376 1,944 1,944 4 A M
hE 8.0 BERE 55 1,404 1,080 1,080 3 A LL
hE G 1.2 - 1,080 - 3 A LL
“hE 1.8 B 1.3 1,296 1,296 648 3 L
AF 0.1 BERE 0.1 1,566 324 324 1
1Z5 2.6 = I 1.1 3,510 2,700 2,592 5 Y19
+)L)— 0.8 2 05 3,240 - 3,024 0] A L
T RAINSHR 1.0 2 [ - 227 - 01| »ay L
Hh)I257— 1.1 BE X 0.9 1,404 864 540 6] A 6
Joyal— 17.6 K & 48 3,456 3,132 3,024 6] A L
LAX 23.9 BRE 0.1 140 108 86 0.1
LAX £ & 18.5 1,296 486 486 0] A 12
FoHHA 1.3 12 [H 0.5 1,134 — 972 3 A M
ZpoY 154 BERE 12.7 1,901 1,188 1,080 5/ A L
EpdY = I 2.7 1,620 1,296 1,188 5 A L
NEXAES 0.7
A 3.7 BERE 0.2 - 3,024 - gl B L
He B A 3.1 1,490 - 1,458 5 L
=4 14.2 BERE 8.2 1,296 - 1,188 4 B L
k< B X 5.6 1,512 1,404 1,080 4]l vay S
==—k<k 55 BERE 45 130 86 86 02 A M
==k<k B K 0.5 - 1,620 - 3 vay M
E—<> 11.1 BRE 10.7 5,508 4536 4212 78] A M
x5 0.1 BIRE 324 - 119 0.3
IZH5Y 0.4 BRE 0.3 2,700 2,484 1,685 3 A L
[ZA5Y B K 0.1 - 2,268 - 3 10
SPVAITA 0.4 BRE 0.4 - 2,160 - 2l A M
SPZAES 1.4 EES 0.7 1,404 1,112 1,112 1 vay L
E—X 0.3 BRE 0.3 1,296 1,080 702 1 A
ZoEH 0.4 BERE 0.4 1,296 1,296 1,080 1
MrAL& 5.3 B X 3.8 2,106 1,728 1,728 5 L
IEhiLe 72.6 BERE 72.6 2,160 2,160 1,944 100 A 4L
e = - 259 - 033 A 3
B 6.2 T & 6.2 - 4,104 - 0] ¢ LL
f=FEhE 22.4 BERE 6.2 1,944 864 864 0] A L
f-FhE dtiEE 13.8 3,024 - 2,808 20 L4
1Al 0.9 h E 0.7 5,616 5,184 4536 10 4L
52E LS 0.1 BERE 0.1 194 - 173 0.15
BLESH 0.4 £ & 0.2 - 4,320 - 4
ELLV=IT 1.4 G 0.8 130 86 65 0.1 A M
ZDELET 4.2 K & 2.1 41 32 32 01] A
ZDELET =% 1.6 - 31 - 0.1
LoHL 15 12 [H 15 97 70 70 0.2
FFREEE 498.2
Bx
o B &t E= i = & & =z B £ B
m B = iR
®) AR=E®) (M) (M) (M) (kg)
HiED2H N A 2.8 BRE 26 2,484 2376 1,728 10| 7h¥a L
HEDHMA kB 0.2 - 1,404 - 10 L
LEY 14 FAYH 1.2 7,344 4,860 2,160 17 165
NLTT 14 FAYH 14 7,344 5,940 4,536 17 88
ST 0.1 FAYH 0.1 6,804 - 1,620 15 48
BR 1.0 BRE - - - PR
AR FOERLL 1.0 - 346 - 1
HRE 0.3 N 0.2 - 2,700 - 5] Yay 44
Lo 0.2 BERE - - - PR
L5 N 0.2 - 2,160 - 5| van 22
HmOMAZED 1.3 B X 0.6 2,160 - 1,620 10 LL
YATE 10.7
PEFE=IN 0.7 5 & 0.7 — 4,752 — 10 M 40
AL 8.2 5 & 8.2 6,264 4,320 3,672 10 32
F# 0.5 5 & 0.5 5,940 3,456 3,456 10[ Mty
Uh BERE - 432 - 025 A L
w52 6.0 BERE 2.9 378 302 302 025 A LL
AOUET 4.0
7—IJLR 1.0 BE X 0.4 10,800 - 9,180 Y EY] L
ZRHADY 3.0 BE X 1.2 - 4,536 - 8l vay LA
FULIMET 4.0
FLVH 3.4 B K 3.3 - 6,912 - 13[ 7h%a LL
INFF 15.4 EYEY 14.9 4,536 3,186 2,700 15
A eri 2.2 EYEY 2.1 3,240 2,700 2,376 10 8
Fo4T1LY 0.5 -y 0.5 5,076 4,860 4,860 5.8 27
RERE 51.6




